Subject: Contraceptive calendar in Nigeria 2013 dataset
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Dear DHS,

| am working with a few colleagues on an analysis that will utilize data from the contraceptive
calendar in the Nigeria 2013 dataset. We are running into a few issues and hope to get some
guidance.

1. In the recode manual, it states that the calendar data are stored as single variables of 80
characters. In the Nigeria 2013 dataset, it appears that there are only 67 characters. Is this
correct?

2. Our next question refers to vcal_1. It is my understanding that the earliest positions in the string
variable relate to the most recent times and the end of the string relates to further back in time.
When we use the code below to destring the variable we find that the last positions for some
respondents are blank. It is my understanding that the blank positions correspond to the months
after the month of the interview, thus shouldn't the blanks appear in the first positions because
they would be the most recent times?

3. Our next question refers to vcal_2. When we use the code below to destring vcal 2, we find
that when a respondent provides a reason for contraceptive discontinuation it appears in the 1st
position regardless of when the respondent actually discontinued the contraceptive method. |
would expect that the reason for discontinuation would be entered in the position that corresponds
to the date of discontinuation from vcal_1. Is our code below used to destring vcal_2 incorrect?

4. Our last question refers to vcal_3, which according to the recode manual is the column that
records episodes of marriage. Does the Nigeria 2013 dataset include vcal_3? If so, is the variable
called something else? We can't seem to find it in the dataset.

Code for questions 2 and 3:
format %67s vcal_1

gen call = substr(vcal_1,1,1)
gen cal2 = substr(vcal_1,2,1)
gen cal3 = substr(vcal_1,3,1)
gen cal4 = substr(vcal_1,4,1)...
gen cal67 = substr(vcal_1,67,1)

format %67s vcal_2

gen discall = substr(vcal_2,1,1)
gen discal2 = substr(vcal_2,2,1)
gen discal3 = substr(vcal_2,3,1)
gen discal4 = substr(vcal_2,4,1)...
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gen discal67 = substr(vcal_2,67,1)

reshape long cal discal, i(caseid) j(event_time)
Thank you very much for your assistance!
Sincerely,

Carie
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